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2023
ECONOMICS
( Honours Generic/Regular Course )
Paper : ECO-HG/RC—4016

( Principles of Macroeconomics—1II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

SO 2R TR o

{a) Define LM curve.
LM @[ ige foran o

{p) What is the condition for equilibrium in
the money market?

41 TR SRR 76 & 2
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(2)

(3)

(c) Define aggregate demand. 2. Answer the following questions :
AR ofEa et | OO ePPTYRA Ted ford
(d) What is liquidity preference? (a) Explain aggregate supply function.

O #5W F 2

(e) Give the meaning of cost-push inflation.
J-3faete qrRifes oy &9 |

( Why does deflation occur?

RIS 57 Ted 2 ?

(b)

() What is the meaning of foreign (c)
exchange?

e fRfe i 69

fh) Define hyperinflation.
v Jarifes e fad |

(i)  Who gave the concept of Phillips curve?

(d)

o1 (4R YR @I SRR ?
() What is rate of exchange? fe)
R =7 e 2
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0 iy T R Sl e T R T R A P B . TRl oA e

AT @ T [, [ 0 |

Show the differences between demand-
pull and cost-push inflation.

RIEGES [EETEICHC IS IR 6 | e DI i 3 o8
oS NLFPIR (ST |

How does effective demand determine
employment?

ey TIfEwiE ST v fAdEe 59 2

What are the differences between
Current Account and Capital Account?

sfers f251 w1 oA RorR Tem A1RFEER

foran

What are the instruments of foreign
exchange?

aente e ez &2
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(4)

3. Answer any four of the following questions :

5x4=20

o 2piged R e wifReR Tad o

(a)

(b)

()

(@)

()
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Give the reasons for shift in the
aggregate demand curve.

AR TR @Y FEERe RN SRPHR
forn |

What are the weaknesses of [S-LM
model?

IS-LM wiRGR Heaerte & &2

Discuss the determinants of inflation.

JEFPIReY RERFTR SICes 39 |

Discuss the working of multiplier in
brief.

QY PR TP ST 1 |

What are the characteristics of foreign
exchange market? Discuss.

@t R o @RErme /2
SCA] 40 |

( Continued )

)

4. Answer the following questions :

(S)

What does the short-run Phillips curve
show?

IR FEep (IR s 2

10x4=40

olq (AT Ted foryy

(@)

(b)
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What is effective demand? Explain the
importance of effective demand and its
determinants. 2+8=10

Sty wfdn &9 JfE vl gwg W wWe
Ty T 0 |

Or / 531

Distinguish between aggregate demand
and aggregate supply. Discuss the
components of aggregate supply. 4+6=10

MRS oI W AT AT TS A1
11 | ST eI ST, S 354 |

What are the features of IS curve?
Explain the derivation of IS curve. 4+6=10

IS @R AFSIR & 7 1S @I” o=
ifer a4 |
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(d)

A23/888

(6)

Or / S%{1

Explain the IS-LM model with the help
of diagram. 10

1S-LM =3t foqa s amam 341 |

Discuss the various effects of inflation. 10

TErfes RiSH eeReEm S 4 |

Or / 941

Write a note on the long-run Phillips
curve. 10

T fferer @R Raw b GrR o

How does IS-LM curve explain the
relation between rate of interest and
income level? Discuss. 10

IS-LM @312 & 430 o9 79 WF AR A&
3o I R0 2 AT 1 |

( Continued )

(7)

Or / 5=

What is Balance of Payments? What are
its components? Distinguish between
Current Account and Capital Account of
Balance of Payments. 2+4+4=10

@R el 87 2R SAmeR B
(AR HOR Bere o W e fRore
N3 fore |
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